T % M OB OB E = |
TERS T m @ 9 - s | HEmE | BHME | B =
——e Bt mET
(=27 Ja /IR L=7. 1km FEEK m3 20.7 20.0 |V=57.0-32.6/0.9=
prstT s
HEMEEIE m2 9.3 9.0
SRR T (EEETT) L3, 4n
avol)—+hk H=2. 409 m3 4.2 4.0
(PERET2) L=3. m
avol)—+hk H=2.81~H=2. 86 m3 5.7 50
AILN— T EELT
K B m3 42.9 42.0
b R C m3 25.2 25.0
HEMEEIE m2 6.7 6.0
PAVE L S ATl S
TLEFv X bRy R B1200 x H1200 m 6.0 6.0
ST ST
TRE®RE B4AERA RC-30 t=15cm m2 16.0 16.0
Bk BARERZERA RM-30 t=10cm m2 16.0 16.0
E3E BEZFREF7RAaY t=bcm m2 22.2 22.0
EET AT
T £ #l m3 5.9 5.0
B T m3 4.0 4.0
B-TOOMER T |2t




I £ % B # £ = ,
THRS T oA w5 @ 5 9 s | HEmE | BHRE | B =
K iE m3 8.2 8.0
#H R m3 3.4 3.0
BT
g & $%E35¢cm m2 20.0 20.0
EBET H=25cm m 9.5 9.0
Xigaro)y—+r H=10cm m 10. 6 10.0
EEHT pa) g o
SEAHT 2.0x1.2x0.5 m 2.0 2.0
WEMRET HWEYIELT
Sy — RREL Y- () m3 1.4 Lo;gﬁ%éﬁﬂﬁgﬁ“
EHEEhR T 7A770 b t=5cm m 8.2 8.0
SHEREUR L TA77Mb t=bcm m2 18.6 18.0
EfgnET
- MR E SR 1)+ () L=5. 8km m3 1.4 1.0 |BH
TAT7 WA SE MR AL B TAI7hb5% L=3. Okm m3 0.9 0.9 [FEE
BT KEBT
R Tk Ve B K B 8.0 8.0
R TR - i 1t 1.0 1.0
HiBIR R ReH
SEFWE A 3.0 3.0




> = = 4
Gl 23S T = =T =1 £
‘ K 2 =
=1 ik i pi: (=1 ik i
[ Fi5 I & BT T iR
8.0 4.2
HAIIN— F 6.00 8.0 8.00 48.0 HILIA— K 6.00 4.2 4.20 25.2
PR
Ea—LE -1.1 4.80 -5.1
g 6.00 42.9 £ 6.00 25.2
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R
AREI#=ETR
e A7 mEGE) T
a A | A % B cmmaRr) | (CREER) | (EREAERS i
BT
R B #235cm i 10.9 6.6 2.5 20. 0
HEET H=25cm m 5.1 2.9 1.5 95
Kimgaro)—+k H=10cm m 6.6 3.2 0.8 10. 6




M #®  F 5 £ s

TiRAIGFEREL LY
4 b hr & " = i=-Liva # =
B H® 235cm A= 1. 983+ (6. 60+5. 10) /2-0. 10%1. 044%6. 60 = 10.91  m 10.9
Ao y— bk 18-8-40 V= 10. 91%0. 35%1/2 = 1.909 | m® 1.91
EARA RC-40 V= 10. 91*0. 35 = 3.81 | m 3.8
B #u#t t=lem TSX%A k A= (1.983-0. 10%1. 044) *0. 35%2 = 1.31 1.3
T H=25cm L= = 5.10 m 5.1

Xigavoy—k H=10cm L= = 6. 60 m 6.6




M H

EIIE
b
I

ERAERREL SEL Y
4 b hr & " = i=-Liva # =
g B #£350m A= 2.265% (3. 24+2. 85) /2-0. 10%1. 044%3. 24 = 6.55  m
fRIAI VS Y— bk 18-8-40 V= 6. 55%0. 35%1/2 - 1146
EARA C-40 V= 6.55+0. 35 = 2.29  m
B 4t t=lem TS X% A k A= (2.265-0. 10%1. 044) %0. 35 = 0.75 | m
T H=25cm L= = 2.85 m

Xigaro)—+k H=10cm L= = 3 94 m




M H

EIIE
b
I

EiRAGERREL SEL Y
4 b hr & " = i=-Liva # =
B H® 235cm A= 2.265% (0. 75+1. 50) /2-0. 10%1. 044%0. 75 = 2.46 m 2.5
Ao y— bk 18-8-40 V= 2. 46%0. 35%1/2 = 0.430 0.43
EARA RC-40 V= 2.46%0. 35 = 0.86 | m° 0.9
B #h4t t=lem TSR44 k A= (2. 265-0. 10%1. 044) 0. 35%2 = 1.51 1.5
T H=25cm L= = 1.50 m 1.5

Ximaryy—+ H=10cm L= = 0.75 m 0.8




IR =

M +4 T 1

H B T H=25cm 10.0m% Y

4 b hr & " = i=-Liva # =

avyy—+t 18-8-40 V=" ((0. 10+0. 43) /2%0. 15+0. 43%0. 10) *10. 00 0.827 0.83
il B A= (0. 25+0. 10)*10. 00 3.50 | m 3.5
HLavyy—r 18-8-40 V= 0. 63%0. 10%10. 00 0.630 0.63
Lo i A= 0. 10%2%10. 00 2.00 m 2.0
HEEEEF A= 0. 63%10. 00 6.30  m 6.3




¥ B #F ' F 12

XimgarovYy—rI t=10cm 10.0m% Y
4 b hr & " = i=-Liva # =
avyy—+t 18-8-40 V= 0. 731%0. 10%10. 00 = 0.731 0.73
il e A= 0. 10%1. 044%2%10. 00 = 2.08 m 2.1




M +4 13

BE B T 1 SEL Y

4 b hr & = i=-Liva # =
avyy—+t 18-8-40 V= (0. 30+1.023) /2%2. 409%3. 44-1. 44%1. 48%0. 621 4.158 4.16
il B A= 2. 409% (1+1. 044) 3. 44-1. 44x1_48% (1+1. 044) 12.58 | m? 12.6
HLavyy—+r 18-8-40 V= 1.223%0. 10%3. 44 0.420 0.42
Lo i A= 0. 10%2%3. 44 0.68 | m 0.7
HEEEEF A= 1.223%3. 44 4.20 | m? 4.2




M H

EIIE
b
I

73 ) 2L Y

£ Lo A i " = =R (72 B =
avyy—+ 18-8-40 V=_(0.30+1. 155) /2%2. 850%3. 784-1. 904*1. 48%0. 749 = 5735  m 5.74
it B A= 2.850% (1+1. 044) *3. 784~1. 904x1. 48% (1+1. 044) = 16.28 16.3
HLavsy—+r 18-8-40 V= 1. 355%0. 10%3. 784 = 0.512  m 0.51
Lo VB A= 0. 10%2%3. 784 = 0.75 0.8

1.355%3. 784 = 512 | m 5.1

EEEIE A




M #®  F g £ 75

Ry XHI)LsN—Fk B1200xH1200 L=6. Om 2EHY

% R o i " =X B B B
Ry RAN— B1200 x H1200 X L2000/1& N= = 3.00 M@ 3.0
BELZIL 1:3  t=2cm V= 1. 44%0. 02%4. 20 = 0.120 nm’ 0.12
EfarsU—+ 18-8-40 V= 1. 64%0. 15% (4. 20+4. 15) /2 = 1.027  m 1.03
B # A= 0. 15%2% (4. 20+4. 15) /2 = 1.25 1.3
B RC-40  t=20cm A= 1.64% (4. 15+4.10) /2 = 6.76 m 6.8

1.64%4.10 = 6.72 m 6.7
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SEADTT 284 Y
& b Bh & = B ] =
40 13%x50x 120cm
SEANT hEEH  BIE R 15cm~20cm L= 2. 00%1#& 2.00 m 2.0




	数量総括表
	土量計算書
	集計表
	材料計算書
	表紙
	目次



